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NIVERSITY of PENNEYIVAMIA

Math 240 Quiz 3

1. Let y = > 7 c,z™ be a series solution to the differential equation

Y~z —y=0
Given that y(0) =0 and ¥/ (0) = 1 find 05 and cg.
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2. Let C be the part of the circle z2+y? = 4 above the y = z line, traversed counterclockwise,
plus the diameter of the same circle on the y = z line traversed from lower left to upper
right (C is a closed curve consisting of the sum of those two parts). Let

F = (2° +9°, —288)

be a vector field. Find
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3. Let ( be the closed curve in the previous question. Let
F = (2% 492, 22y)
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be a vector field. Find




4. Find the divergence (V - F) and the curl (V x F) of the following vector field

F = 2ayzi + % + gk
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